Ox 8=__ lx 8= ___ 2 X = __
3 x 8= ___ b x 8= ___ 5 x = __
6 x 8= ___ /] x 8= ___ 8 x = _
9x 8= ___ I0x 8= ___ x 8= ___
12 x 8= ___
24 + 8 = 40 + 8= ___ 72 + 8 =
6 + 8 = ___ 32+ 8= ___ g6 + 8 =
a 3862 + 1387
bh. 8426 + 268
c. 6428 + 2984

Quick Start 2
Ox 8= ___ lx 8 =___ 2x 8= ___
3x 8= ___ b x 8= ___ S5x 8= ___
6 x 8=___ /7 x 8= ___ E8x 8= ___
9x 8= ___ I0x 8= ___ lx 8= ___
12 x 8= ___
L8 + 8= __ 8+ 8= __ 56 + 8 =
64 + 8= ___ 24 + 8= ___ 88 + 8 =

a. 8362 + 846
h. 2984 + 362|
<. 7373+ 1896




Ox 8=__ lx 8= ___ 2 X = __
3 x 8= ___ b x 8= ___ 5 x = __
6 x 8= ___ /] x 8= ___ 8 x = _
9x 8= ___ I0x 8= ___ lx 8= ___
12 x 8= ___

32+ 8= ___ 80+ 8= ___ |16 + 8 =
56 + 8= ___ 24 =+ 8= ___ 72 + 8 =

a. L8826 + 2984
h. 7326 + 1298
<. 2631+ 5372

Quick Start 4

Ox 8= __ Ix 8= ___ 2x 8= ___
3x 8= ___ b x 8= ___ S5x 8= ___
6 x 8=___ /7 x 8= ___ E8x 8= ___
9x 8= ___ I0x 8= ___ lx 8= ___
12 x 8= ___

LO + 8= ___ 8+ 8=___ 32+ 8=
6L + 8= __ 56 + 8 =___ g6 + 8 =

a. 9384 + 937
h. 3902 + 4972
<. 2038 + 6219




Ox 8= __ lx 8= ___ 2 X = __
3x 8= ___ b x 8= ___ 5 x = __
6 x 8= ___ /] x 8= ___ 8 x = _
9x 8= ___ I0x 8= ___ lx 8= ___
12x 8= ___

72+ 8= ___ L8 + 8= _ |16 + 8 =
88 + 8= ___ 24 =+ 8= ___ 32+ 8=

a. 2384 + 3937
h. 8273 + 3063
<. 6328 + 619




